
Assignment 1
	Find alle verberne (udsagnsordene) i præsens (nutid) i nedenstående tekst, og omskriv dem til præteritum (datid). Skriv hele teksten som dit svar, og markér verberne tydeligt som i eksemplet.
Eksempel: 	It seems…
	It seemed…

	
It seems they’re expected to wade out to the boat. The old couple with the matching binoculars go first. They’re both wearing wide-legged khaki-shorts, which they roll up even farther, exposing stringy whitish legs which are surprisingly muscular. Even so, the drooping bottoms of their shorts are wet through by the time they reach the boat’s ladder. The two speckled pink girls make it with a lot of shrieking. Lora unties her tie dye, under which she’s wearing a black bikini half a size too small, and drapes it around her neck. She holds the purple cloth bag she’s carrying at shoulder height and surges into the water; surf breaks around her thighs, which bulge out of the bikini like caricatures of thighs […] Rennie considers her options. She can either hitch up her dress and tuck it into her underpants, with everyone watching her, or get it wet and smell like seaweed for the rest of the day. She compromises, hiking her skirt halfway up and draping it through the sash tie. It gets wet anyway.

Margaret Atwood, Bodily Harm, 1981



Assignment 2
	a. Find og skriv tre forskellige konjunktioner (bindeord).

	1.

	2.

	3.




	b. Find og skriv tre verballed (udsagnsled) i tre forskellige grammatiske tider. Find og skriv deres tilhørende subjekt (grundled). Forklar kort ud fra dine eksempler reglerne for kongruens på engelsk.

	
	Verballed
	Grammatisk tid
	Subjekt

	1.
	
	
	

	2.
	
	
	

	3.
	
	
	

	Forklaring:










	c. Find og skriv tre forskellige typer pronominer (stedord). Angiv for hvert eksempel, hvilken type pronomen der er tale om.

	Pronomen
	Type pronomen

	1.
	

	2.
	

	3.
	




Assignment 3
	The sentences below, which are from two different texts, have been jumbled. 
Connect the sentences so that they form two coherent texts.

		a.
	what it is – could harbour life.

	b.
	kilometres – an area roughly the size of Scotland.

	c.
	The mobile lab now rolling across the crater plain at fifty miles

	d.
	spaceship – and in an emergency it could even fly.

	e.
	Agency spacecraft suggests a large body of liquid water, as well

	f.
	it was a self-contained base in which twenty men could live and work for several weeks.

	g.
	New radar data from a European Space

	h.
	an hour looked rather like an outsized trailer mounted

	i.
	as three smaller lakes, are spread out over 75,000 square

	j.
	Indeed, it was virtually a land-going

	k.
	There is potential that the liquid water – if that is

	l.
	on eight flex-wheels. But it was very much more than this;




	Tekst 1





	Tekst 2










Assignment 4
	a. Beskriv kort den sproglige stil i teksten, fx med hensyn til sætningsopbygning og ordvalg. Brug eksempler fra teksten. Skriv dit svar på dansk.

	



	b. Write a formal and grammatically correct reply from a cat owner (50 - 75 words).

	









Assignment 5
	Summary

	











	Analytical essay

	










